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ECONOMICS
Paper : ECO0200104

{ Basic Elements of Economics )
'Full Marks : 60
Tlme : 2% hours - -

| The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following :  1x8=8
SRl TeT ol ¢ |

(a) ‘State. the main dlfference between a
parameter and a statistic. '

AoeT I PR 2 AL B |

(b) For the following data, obtain the value
" of the mode :

oY SRS IS W e 10 2
54 65 55 65 53 54 51 57 65 53
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Distinguish between Simple Arithmetic

~Mean (SAM) and Weighted Arithmetic
" Mean (WAM). ' :

mmquwwwmm»n@ :

forin

“Index numberé reflect we1ghts of

different commodities.”
(Write True or False)

,mﬂ\m%mﬁwmml”-»

5t & fﬁ@ i)

Financial~ Duahsm 1mp11es_ . the
coexistence of _ ~and ___ .
‘ (Fill in the blanks)

Ao IR
o (0T 31 7 )

.Define disguised unemployment. |

RN e et B

The HDI 2010 is the GM/AM of -

normahsed 1nd1ces

(Choose the correct option) |
HDI 2010 Z& ANNFS FpN GM/AM |

(o7 Ge0! JfR Claesy)
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() . ECon‘_omic growth 1s a broader/narrower
concept than economic development.
(Choose the correct option)

o 9 2 AT R T O

@A (om0 AR Shew)

2. Answer any six from the following
questions : - 2%x6=12

W@mwﬁm@mm

(@) Pomt out two main dlfferences between
pnmary and secondary data.

anerﬁawms cmwww Sl maﬁs;%nm |

(b) Explain bneﬂy the method of stratlﬁed
random sampling. .

WWW”W%E‘WWWI

- () Mention two uses of the-cost of 11v1ng '
" index number.

ERA AR I I 75 TR St 4|

(d) Mention the significance of purchasing
power parity. I

T TTOR ‘t's'twﬁﬁ%m
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(e) .Deﬁne ‘Sustainable Developmeht’- TS ST 29 a2 oS 9 T 99
s SHAn S IR Ry | ool B4 |
et is demographic dividend ? Marks 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
- o2
. TH
| i e
3 | ; _ No:SafStudsats |- (155358 158 RS0 IR S0 01N 2 518 | ST
(9) Write any twe demographic features of | B& # 4
indiz: w51 | (6) What i index number ? What a
- 1 at 1S an 1ndex nuinber : a Ire
SO ciaal : % [IREs] ferii its main features ? 2+3=5

. - t by :
1) m;;nm ;:;;nancial System ? Tpss 0l 7 2 TR @ WRSER & /e
. ' ﬁ%‘ii W[ T2 ? 1
s (c) Calculate cost of living index number

from the following data :

S‘I’_iﬂgulsh between m
o SRR F_ GRE =6 TF P A

©hey market 8nd

Q) S;pit _1 market.
(i T
e < | T e et T ;
gricuitural 1o Artic] Pri Rs. ( ights (@
. efine 2 ‘ g holds. icle (49) rice (79) s. (0F1) | Weights (®[R)
() Zﬁﬁ@ s AR %@ur house _ 2010 2020
| i : Food (per kg) 20.00 24.00 4
i any four from the . . U (ﬁﬁg @q’@-)
3 AnsW Ollowing '45 20 Cloth (per meter) 1.25 1.50 3
el ISR By 5% | R (2 foR)
RUGE] A4l ; %:‘\n o Rent (per room) 5.00 8.00 2
ihe followmg t wol (o @ -
L marks le, carculate the L (o 190 .
(a) difm e IS i 2 calc the Miscellaneous (per unit) 2.00 2.00 1
S Uned bY T (o ¢59)
ud®”
- Lo .
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- (d)

(é)

(9)

(h)

Why is PCI not a good index of

economic development ? Discuss.

PCI Wﬁﬂf@ﬁwwwwﬁwm?-

A 359 |

Diffefentiate between economic growth

-and economic development.

R 3% e o R A B

Highlight the components of a financial

- system.

ﬁ@ﬂwwwwﬁ«qﬁm

Illustrate the key elements of a well-
-functio_ning financial system.

g e REYE IR T S 3 < |

- Explain the sector-wise composition of

India’s GDP. How does this sectoral
compos1t10n affect overall economic
growth ? ' - 3#2=5

©iFed - GDP-3 A99@ Ao i 7101 Qesie
WWWWW@%—M

CoeTIRI 2
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4. Answer any two from the follow1ng

quest10ns " © 10x2=20

'WWW ﬁmmﬁw T il ¢

, (a) What does a measure of dlsperswn
' mdlcate ? Name the different measures
of d1spers1on For ‘the followmg data,

‘obtain .the value of the variance. :
1+2+7—1o'

R WA 7 3500 2 Koot MR = fordl |
'-WoWWﬁ%%Wﬁ‘ﬁWl |

"Age Group 5-7 | 8-10 | 11-13 | 14-16 17-19 |

No. of Students| 10 | 8 | 7 | 3 | 2

Ry

(b) Examine the relative merits and
demerits of complete enumeratwn and
.sample survey. Explain briefly the -

- principal steps taken in a sample
survey. 5+5=10

m«fﬁwmaﬁwﬂﬁwwﬁﬁmf
% SRYRAIER PGt | ol AR SR
| o TR IR | -
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(c) What are the ess ,_qtlal components of

(@

(e)

HDI ? Explain the nqethod of calculating

HDI. 4+6'—1O :

HDIJ e WW & ﬁw HDI SR
1S rt T

_Dlscu‘ss th_e tren A of national income
and per capita ingcome. of India. Analyse
the factors influgncing the growth rate
of national incoxye and its implications

" for economic deyelopment. . 4+6=10 |

3l | SO TS SR (AR FIIFRIT Restet
= e wdeRs K 0&‘@1« wﬁzsw
T A |

Discuss the rq,le played by ﬁnan01a1
system in the funct1on1ng of an
economy.

aﬁau@fﬁaﬁ:{mﬁwﬁ@ﬂwm
maﬁn
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